Synthetic Division. Finding Zeros of Polynomials and End Results                                      Bridgeport Math

Name ______________________________________

Use synthetic division, then factor the quadratic to find the zeros. Sketch the graph showing end results
1.  
Roots ____________                                                 sketch

Y intercept ___________                                           

_______________________________________________________________________________________________
2.   [image: image1.png]v} +12x% + 44 x + 48



   = 0         (one of the roots is -4)
Roots ____________                                                 sketch

Y intercept ___________                                           

3.   [image: image2.png]


  =  0                  (one of the roots is 5)

Roots ____________                                                 sketch

Y intercept ___________                                           
_______________________________________________________________________________________________

4.   [image: image3.png]


  =  0             (one of the roots is  1)
Roots ____________                                                 sketch

Y intercept ___________                                           

_____________________________________________________________________________________________

5.   [image: image4.png]S5x?-2x+24



  =   0                 (one of the roots is 4)

Roots ____________                                                 sketch

Y intercept ___________                                           

